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Supplementary file 2

Given the pervasive effects of GC-biased gene converion and correlation between GC con-
tent and 2nd codon positions, we might expect that life history is also associated with dif-
ferences in amino acid usage between species due to the structure of the genetic code. This
appears indeed to be the case for a subset of amino acids. Figures represent amino acid usage
in percent plotted against log(body mass) in grams, with amino acids labelled in one-letter
notation. Rho denotes Spearman’s rank correlation coefficient.
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